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WORKSHEET 60 – Linear Programming 
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Graph the given set of constraints.  Find the maximum and minimum values of the objective function that come from the feasible region defined by the constraints.
1.  Objective function:  
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2.  Objective function:  
[image: image2.wmf]y

x

P

2

3

+

=


[image: image1.wmf]y

x

C

3

4

+

=


Constraints:  
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Constraints:  
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Solve the following problem using linear programming.  Write an objective function and a set of constraints from the given information, then find the point that gives the best solution to the problem.
3.  A shoe manufacturer makes outdoor and indoor soccer shoes.  There is a two-step process for both kinds of shoes.  Each pair of outdoor shoes requires 2 hours in step one, 1 hour in step two, and produces a profit of $20.  Each pair of indoor shoes requires 1 hour in step one, 3 hours in step two, and produces a profit of $15.  The company has 40 hours of labor per day available for step one and 60 hours available per day for step two.  What combination of shoes should be produced so that the manufacturer will maximize its profits?  What would the maximum profit be?


Objective function: __________________________
Constraints:  ____________________________


_____________________________


_____________________________


_____________________________
How many shoes?  __________________________________

Maximum profit = _________________









_1420303297.unknown

_1420439638.unknown

_1420303346.unknown

_1420303046.unknown

